
P/N 82-00003 PROPLUSROD INSTALLATION INSTRUCTIONS REV20190801                                    

  

 

 

PROPLUSROD 
Height Rod Installation Instructions 

 
 
Tools Included: 5/32”, 6mm & 8mm Allen Wrenches 
 

Parts List:  

                       

 

 

 

 

 
 

Mounting the Height Rod 

1. Using the provided 8mm Allen Wrench, 
remove and discard the M10 x 1.5 x 40mm 
Socket Head Screw from the top of the Left 
Handrail. Left and Right is determined when 
facing the scale, as if you are the patient about 
to step onto the platform.  

 
 
 
 
 
 
 
 

 

M10 X 1.5 X 45mm 
BUTTON HEAD 

SCREWS, 2 EACH 

 

201HR HEIGHT ROD WITH 
MOUNT BRACKET ATTACHED 

 

¼”-20 X 5/16” 
BUTTON HEAD 

SCREWS, 4 EACH 

 

Upper HR Mount 
Bracket 

 

Lower HR Mount 
Bracket 

 

5/32”, 6mm & 
8mm Allen 
Wrenches 

 

Remove and Discard 

Left 
Handrail 



P/N 82-00003 PROPLUSROD INSTALLATION INSTRUCTIONS REV20190801                                    

2. Using the provided 6mm Allen Wrench, mount 
the Upper HR Mount Bracket to the Left 
Handrail using the provided M10 x 1.5 x 45mm 
Button Head Screw. Do not fully tighten the 
screw at this stage of assembly. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3. Using the provided 8mm Allen Wrench, 
remove and discard the M10 x 1.5 x 40mm 
Socket Head Screw from the bottom of the 
Left Handrail.  

 

 
 
 
 
 
 
 
 
 
 
 

4. Using the provided 6mm Allen Wrench, mount 
the Lower HR Mount Bracket to the Left 
Handrail using the provided M10 x 1.5 x 45mm 
Button Head Screw. Do not fully tighten the 
screw at this stage of assembly. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Remove and Discard 



P/N 82-00003 PROPLUSROD INSTALLATION INSTRUCTIONS REV20190801                                    

 

5. Position Height Rod in front of the Upper and 
Lower HR Mount Brackets so that the 2 holes 
in the Upper HR Mount Bracket are positioned 
over the 2 threaded holes on the back of the 
HR assembly. Thread 2 each ¼”-20 x 5/16” 
Button Head Screws into the threaded holes 
on the rear of the Height Rod Assembly. 
Tighten top and bottom Screws with 5/32” 
Wrench. 
 

 
 
 
 
 
 
 
 
 
 
 
 

6. Position Height Rod in front of the Upper and 
Lower HR Mount Brackets so that the 2 holes 
in the Lower HR Mount Bracket are positioned 
over the 2 threaded holes on the back of the 
HR assembly. Thread 2 each ¼”-20 x 5/16” 
Button Head Screws into the threaded holes 
on the rear of the Height Rod Assembly. 
Tighten both Screws with 5/32” Wrench. 

 

 
 
 
 
 
 
 
 
 
 
 
 

7. Using the 8mm Allen Wrench, fully tighten and 
secure the Upper and Lower HR Mount 
Brackets by tightening the M10 x 1.5 x 45mm 
Button Head Screws. Assembly is now 
complete. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



P/N 82-00003 PROPLUSROD INSTALLATION INSTRUCTIONS REV20190801                                    

Measuring Patient Height 

1. With the headpiece in the folded down position, 
slide the headpiece up or down to the 
estimated height of the patient. For patients 
shorter than 53” / 134.5cm, press the black 
button at the top of the height rod to release 
the lock then slide the headpiece down. Then 
lift the headpiece into its horizontal position.  

 

2. Position the patient onto the platform with 
their head positioned under the headpiece. 
Ensure that the patient’s posture is upright, 
and that the patient’s head is straight and 
level. Push the headpiece down until it rests 
on the patient’s head. 

 

3. Determine the patient’s height by reading the 
value at the read-off mark. 

a. For heights above 53” / 134.5cm, 
read height at the blue line in the 
center of the height rod. 

b. For heights below 53” / 134.5cm, 
read height at the blue line at the 
bottom of the headpiece. 

 

 

 

 

 

PELSTAR®, LLC 

9500 West 55
th

 Street • McCook, IL 60525 • USA 
1-800-638-3722 or 1-708-377-0600 

 
PLEASE REGISTER YOUR PRODUCT FOR WARRANTY COVERAGE AT:  

www.homscales.com 
 

Health o meter
®
 is a registered trademark of Sunbeam Products, Inc. used under license. 

Health o meter
®
 Professional products are manufactured, designed, and owned by Pelstar®, LLC. 

We reserve the right to improve, enhance, or modify Health o meter
®
 Professional product features or specifications without notice. 

 
© Pelstar, LLC 2019 

 

Read here for 

heights greater than 

134.5 cm 

Read here for 

heights less than 

134.5 cm 

Slide with 
headpiece 

in down 
position.  

For patients under 53” / 134.5, 
press black button to release, 
then slide height rod down.  

http://www.homscales.com/

